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BRfT Rt REEE BARS RENE RBER/
[ RER fifE BY EARE EffG (RBRER) by
fizt FAL FAL FAL FET FET FET FET FAT
—ZZ-F¥WA-A 8221 257,272 — = = 254 (105,831) 159,916
an 33(b)(i) —  (129,270) - — — — 129270 —
HRARRE S 31 1,600 28,480 = = = = = 30,080
R % B 7 31 6,620 51,360 = = = = = 57,980
iR 31 65,762 131,525 — — — = — 197,287
ARET 31 16,441 = = = = — (16,441) =
BORHAX 31 = (8,253) = = = = = (8,253)
EfRENERH
RUBEBEERER
WEFE — — — — — 1,989 = 1,989
LE-HBEARMEE
BE - - - - = = 1,300 1,300
REERT - - - = = — 27,700 27,700
RZZEZ-4=R=+-H
kmA—H 98,644 331,114 = = = 2,243 35998 467,999
R#Rin 31 19,500 19,500 = = = = = 39,000
N 31 (106,329) = — 106,329 — — — —
BIRRER 31 = = 2,000 = = = = 2,000
BIRREERY - — (265) - — — — (265)
BRHAX 31 = (2,392) = = = = = (2,392)
EfRENEBA
RIBERRRTRA
LEREE 13 = = = — — (2,243) = (2,243)
LERBARMEEAEE 34() - - - = = = 75,104 75,104
REERT - - - - - — 41,293 41,293
BERARDET - - — = 1,511 — (1,511) =
R-ZE=f=fA=1-H 11,815 348,222 1,735 106,329* 1,511* —*  150,884* 620,496

3 REREEERRENGAEERBR ZEAH15608,681,0008 L (ZZTZT — 4 : 369,355,000 7T) °

24



W
W
[11
H
H
o

BRI R RARER  BERK RENE REEN/
Bx BER & Bty EBARE ENEE (ZEER) @
FEx FEx FEx FET FETL FEx FEx FEx
B DAIRE R
KRR RKBAR 11,815 348,222 1,735 106,329 1,511 — 160,313 629,925
/NS — — — = = = (9,429) (9,429)
R-BE=#=A=1+-H 11,815 348,222 1,735 106,329 1,51 — 150,884 620,496
KRR RKBAR 98,644 331,114 = = = 2,243 33,094 465,095
BELT = = = — — = 2,904 2,904
W-EE-#=fA=+—H 98,644 331,114 = = = 2,243 35,998 467,999




